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Please check whether you have got the right: questloﬁ pape :

N.B: 1. All questions are compulsory subject o 1nternal ;:ho:ce
2. All questions carry equal marks. f.‘ A=
Q.1  Attempt any 2 Questions : :
a) Explain why Project management is necessary” K T
b) Write a note on Work integration Position. S
¢) A Company is considering 2 Mutually exclusive Project with hlghe
Should be chosen. RS :'
Following are the particular of both the Projects: SEAFSEy
Particulars Project X Project Y SIEF.
(Rs.) “(Rs.) PG R
Cash Outflow 3.00,000 | 3.50.000 BEHOLE T S ‘
L * Cash Inflow : A O R PN iy
Year ‘O . - -2 ‘. 7.-‘. ‘1,
1 95,000 1,40.000 SR
2 90,0007 - .~ ~ 94.000 LT N
3 85,0005 .-~ 80,000 ST S
4 2 3 bm_i.; 2 777,000 LS
5 :".;: P30/060 | 78.000 ] AR e
return is 9% The Present Value of Rs. 1 at 9% discount
g 3 IS B g
0.772% 0.708 0.650 }
Q2. Attempf@y iques;: SRS s 15
a) Explain: mﬁﬁ:@l Wb?énaiysl ,Jwﬁh respau ) 01 anagement.
b) Writea }{teﬂem\andi‘orecasnagc :
c) Etpiun@ghggsﬁf%mmmcme in Pro _}SG{ Managem
- RS S S S
Q.3 Attempt “any.2 questions : 15

a"} «Wha.t IS msk_'?stgm,& Exﬁlam-“\‘?armus mJes ol risk in project.
5 -qu Lid. & G Ltd. Compute Operating Leverage, Financial

verage.
ERNS S SLd. G Ltd
5 9,000 19,200
¢ 6,000 14,400
3 2,400 4,000
400 600

m t:ike over Company B L.td. Goodwill may be taken at Rs. 48,000 for A
i‘qu Led. The Stock of A Lid. & B Ltd to be taken at Rs. 1,02,000 and Rs.
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Their financial Position as on 31-12-17 were: - 5 :
Liabilities A Ltd. B Ltd. Assets A Ltd.

Equity Share 2,50,000 1,00,000 | Fixed Assetg_ I~ar 200 000 oM.

Capital _:*“. SR SR

General 1,00,000 10,000 | Investment: | 50 0{}0“-.:"".:,':--._-.';

Reserves LS st N T U 3
Profit & Loss 50,000 15,000 | Stock = ¥ o] - ._-;1;00,-000.:: T 065,000 o
Ale Cash & Bank | . 85,000 ~ T 30,0005
Creditors 50,000 25,000 | Debtors |- 15,000} . 5.000]
Total 4,50,000 1,50,000 | Total ~ - - 430 000;  71,50,000 |

Calculate the Net Asset Value Per share & find out the exchange Ratlo

Q.4 Attempt any 2 Questions SN : AN 15
a) Write a note continuous Improvement PN QAT DS ST A
b) What is Planning Monitoring control cycle R A o A
¢) Discuss the execution tools for clesing of project. S B i~ —

Q.5 Case Study :-
Falcon Ltd. in fi
Year
EBIT &
Additional Informangn 2.
1) Tax Rate @«3 0%:
2) Principal ar'wunt of lo

ou —t"ié""f"‘o'llowiug information:- - - e
200? 2008 2009 2010
3520 |7 72800, . 2940 3220

able equally along with interest payable on outstanding
loans atEhe end of each Ye &
- 3) Loan 3m0ur1t,1n Conslderatlon w )() fakh to be-contracted at the rate of 9% p.a
4) Repayﬁlentx‘fenure 3 Years & :
$) Total Ca;fltal investment'in‘project: 9800 lakh depreciable equally over 5 years.
a) Prepare“Loan Amortlzatmn Schedule & 05
b) Incomegta‘tement_far 5 “years o ¢ 05
¢) (‘alc‘l.l!are Debt rwce coveracre Ratlo * / 05
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